[4AN] swin)

¢¢ ¢ 81 91 1 <1 1T 80 90 #0 0 O

S/Wy 00G=A OWs 1'0=Z N 83E=IN

0

00T

00<Z

00¢

0]0)%

00§

009

00Z

Jogwinu aul



[4AN] swin)
¢¢ ¢ 81 91 ¢v'1 1T 1

80 90 ¥0 0 O

S/W3 00G=A

owis 1°0=7

“N 885=W

0
000002
00000%
000009
000008
GOTXT
JOTXTT
SOTXP'T
J0TX9'T
JOTX8T
s0TXC
o) & raira

[14] 3



[4AN] swin)

¢¢ ¢ 81 91 1 <1 1T 80 90 #0 0 O

S/Wy 00G=A OWs 1'0=Z N 83E=IN

0] 44
09¢
08¢
00¢
0143
0149
09¢
08¢
0]0]7

luns\| ssep



[4AN] swin)

¢¢ ¢ 81 91 ¢¥1 1T 1T 80 90 0 0 O

S/wy 00G=A OWs 1'0=Z N 88E=I

00009
0000£
00008
00006
00000T
0000TT
000021
0000¢T
0000vT
00006GT

(] 121



[41AN] swin)
¢¢ ¢ 81 91 1 1 T 80 90 0 0 O

S6°9

G0'L

'L

Q1L

'L

! ! ! ! ! ! _® ! ! ! G2/
S/WX 00G=A ODWs T'0=Z N 83¢=IN

[[uns7]] 7801



[41AN] swin)
¢¢ ¢ 81 91 1 ¢1 1T 80 90 vO0 <0 O

S/wy 00G=A OWs 1'0=Z N 88E=I

9

3

OT
1
4!
ol
31
0c
4
v
9¢
3¢

[unsy] ¥



¢¢ ¢ 81 91 1 1T 1

[4AN] swin)
80 90 vO 0 O

“““““““““““““

S/W3 00G=A

ows 1'0=7 “IN 88E=W

@l

QG-

ml

1 7

[[1£/unsi]] (10pp)3o01



[4AN] swin)

¢¢ ¢ 81 91 1 <1 1T 80 90 #0 0 O

L
T
|

bl el ik W WA |

S/Wy 00G=A OWs 1'0=Z N 83E=IN

14

v

%

9V

3V

S

'S

G

[[gs/w>]] 3307



[41AN] swin)

22 2 81 9T ¥T 2T T 80 90 ¥0 20 O
— T T 00l
\ I
AU e
A o

N | o0s
TN f oo
R — P My, —— 1 ooz
S A A S { e
EEE o
EEE o

! ! ! ! ! ! _® ! ! ! 00T11T
S/WX 00G=A ODWs T'0=Z N 83¢=IN

[s/w] Jansp



[41AN] swin)

2Z ¢ 81 9T ¥T 2T T 80 90 ¥0 20 O
e
T e 058
Y B
\\\\\\\\\\\\\\\ e e o 1

NG ] 0
Vo N ] o
B W NG ] aos
L N 066
o A NG -] oot
e
e e ot

! ! ! ! ! ! _® ! ! ! 0OSII
S/WX 00G=A ODWs T'0=Z N 83¢=IN

[S/w] 3104



[41AN] swin)
22 ¢ 81 9T ¥'T T T 80 90 ¥0 20 O
— T T T 1190

S9°0

L0

G20

30

¢80

60

! ! ! ! ! ! _® ! ! ! G6°0
S/WX 00G=A ODWs T'0=Z N 83¢=IN

[——1%D



[4AN] swin)
¢¢ ¢ 81 91 1 <1 1T 80 90 #0 0 O

S/Wy 00G=A OWs 1'0=Z N 83E=IN

Hl

G0

S0

|[pa1elj0odeaiXa: T‘/palenwis:Q] Sel4



[4AN] swin)

¢¢ ¢ 881 91 ¢#1 1 1T 80 90 #0 0 O

S/Wy 00G=A OWs 1'0=Z N 83E=IN

G811

611

S6'11

cl

G0¢Cl1

11

G1°ZC1

[———](H)sde



[41AN] swin)

¢¢ ¢ 81 91 1 ¢1 1T 80 90 vO0 <0 O

S/wy 00G=A OWs 1'0=Z N 88E=I

OT

cl

14!

ol

31

0c

cc

vc

[———] (3H)sd@



¢ ¢

[HAN] By

a1 LLLL A

S/WH 00G=A dWST'0=Z N 88E=I



[41AN] swin)

¢¢ ¢ 81 91 1 ¢1 1T 80 90 vO0 <0 O

S/wy 00G=A OWs 1'0=Z N 88E=I



[41AN] swin)

¢¢ ¢ 81 91 1 ¢1 1T 80 90 vO0 <0 O

S/wy 00G=A OWs 1'0=Z N 88E=I

GC—



[41AN] swin)

¢¢ ¢ 81 91 1 ¢1 1T 80 90 vO0 <0 O

S/wy 00G=A OWs 1'0=Z N 88E=I

14

9

3

Ol
¢l
14!
ol
31
0c
cc
vc

[——=](D)sd



[41AN] swin)

¢¢ ¢ 81 91 1 ¢1 1T 80 90 vO0 <0 O

S/wy 00G=A OWs 1'0=Z N 88E=I

9

3

OT

¢l

14!

ol

31

0c

[———](N)sde



[41AN] swin)

¢¢ ¢ 81 91 1 ¢1 1T 80 90 vO0 <0 O

S/wy 00G=A OWs 1'0=Z N 88E=I

14

9

3

Ol
¢l
14!
ol
31
0c
cc
vc

[———](O)sds



[41AN] swin)

¢¢ ¢ 81 91 1 ¢1 1T 80 90 vO0 <0 O

S/wy 00G=A OWs 1'0=Z N 88E=I

cl
14!

[———] (4)sda



[41AN] swin)
¢¢ ¢ 81 91 1 ¢1 1T 80 90 vO0 <0 O

! ! ! | TURLEERE R IE i

9

3

Ol
1
4!
ol
31
0c
4

[———] (eN)sda



[41AN] swin)

¢¢ ¢ 81 91 1 ¢1 1T 80 90 vO0 <0 O

S/wy 00G=A OWs 1'0=Z N 88E=I

14

9

Ol

cl

14!

ol

3T

[———] (eN)sde



[41AN] swin)

¢¢ ¢ 81 91 1 ¢1 1T 80 90 vO0 <0 O

S/wy 00G=A OWs 1'0=Z N 88E=I

OT
cl
14!
ol
31

0c

[———]1 (8)sde



[41AN] swin)

¢¢ ¢ 81 91 1 ¢1 1T 80 90 vO0 <0 O

S/wy 00G=A OWs 1'0=Z N 88E=I

14

9

Ol

cl

14!

ol

3T

[———] (ly)sds



[4AN] swin)

¢¢ ¢ 881 91 ¢#1 1 1T 80 90 #0 0 O

S/Wy 00G=A OWs 1'0=Z N 83E=IN

G'8el
6l
G'6el
0] 44
S0P
e
GIvc
cvd
N
evd
Gevd
vvc

lunsy\| @zis—s100—8H



[4AN] swin)

¢¢ ¢ 881 91 ¢#1 1 1T 80 90 #0 0 O

S/Wy 00G=A OWs 1'0=Z N 83E=IN

161
G161
col
G'col
ol
G'eol
vol
SP6l

G61

lunsyy| @zIs—a102—-0)



[4AN] swin)
¢¢ ¢ 81 91 1 <1 1T 80 90 #0 0 O

0

10
¢ 0
¢0
0
S0
90

L0

! ! ! ! ! ! mu ! ! ! 0
S/WY 00G=A DWs T'0=Z N 83¢=IN

[——]1hs



[41AN] swin)
¢¢ ¢ 81L91TviIcI 1T 8090vr0c0 O

S/wy 00G=A OWs 1'0=Z N 88E=I

c_OTX/SE
1 OTXG/G'€E
1 0TX8G’E
1 OTXG8GE
c_OTX6G°E

1 OTXG6G°E

1 0TX9'E

[~ 2Hs



[4AN] swin)
¢¢ ¢ 81 91T +v1cl I 8090v0C0 O

S/W3 00G=A

ows 1'0=7 “IN 88E=W

[——] g3Hs



[4AN] swin)
¢¢ ¢ 81 91 1 1T 1

80 90 #¥0 <0 O

S/Wy 00G=A OWs 1'0=Z N 83E=IN

0
¢0
0
S0
90
L0
30
60

I

[———] ¥3Hs



[4AN] swin)
¢¢ ¢ 81L91TviIcl 1T 8090pP0c0O0 O

S/wy 00G=A OWs 1'0=Z N 88E=I

0

o7 0TXC
07 OTXP
o7 0TX9
[ 0TX8
,_OTXT
,0TXT'T
1 OTXP'T

. 0TX9'T

-] orTs



[4AN] swin)

¢¢ ¢ 81L91TviIcl 1T 8090pP0c0O0 O

S/wy 00G=A OWs 1'0=Z N 88E=I

0

. 0TS
1 OTXT
1 OTXG'T
1 0TXZ
1 0TXGZ
1 OTXE
1 OTXG'€E
1 OTX
1 OTXGY
1 OTXG

[~ 2118



[4AN] swin)
¢¢ ¢ 81L91TviIcl 1T 8090pP0c0O0 O

0

1 _OTXS

1 OTXT
1 OTXG'T
1 0TXZ

1 0IXS'Z

1 OTXE

S S S S S (Y} $Y0-%
— cA— O] —
S/WX 00G=A OSWsS T'0=Z N 88c=IN

e WAE



[4AN] swin)

¢¢ ¢ 81L91TviIcl 1T 8090pP0c0O0 O

TTTTTrrned

S/wy 00G=A OWs 1'0=Z N 88E=I

0

1 OTXG

,_OTXT

[ _OTXG'T

,_0TXZ

 1_0TXG'Z

-] gogs



¢¢ ¢ 81 91 ¢v'1 1T 1

[4AN] swin)
80 90 ¥O0 0 O

.......... I | | | |
i :
““““““““““““““““““““““““““““““““““““““““““““““““ N T
T
-
Vi
i
-
|
““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““ ing e
| g,
N
=)
| | | | | | | | | |

S/wy 00G=A OWs 1'0=Z N 88E=I

0

12 OTXT
[»_0TXZ
[»_0TXE
0TxY
0TXS
1»-0T%9
> 0TX/L
0T*8
0T%6

-

-

1=

1Z—

-] gas



[4AN] swin)

¢¢ ¢ 81L91TviIcl 1T 8090pP0c0O0 O

LLLL

0

1 0TXZ
1 OTXY
c1_0TX9
c;_0TX8
1_OTXT
L 0TXT'T
L OTXp'T
L _0TX9'T

S/wy 00G=A OWs 1'0=Z N 88E=I

_0TX8'T

-] otas



[1AN] awi L
27 ¢ 8T 9T ¥vT 2T T

L

80 90 ¥0 0 O

0

L, _OTXT
,_0TXZ
L OTXE
L _OTxp

L1_0TXS

,1_0TX9

[——] 118



[4AN] swin)
¢¢ ¢ 81 91 ¢¥1 1T 1T 80 90 0 0 O

! ! ! ! ! !
o
r ¥
“”-
“““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““““ x T
‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘ (el T
| | | | | | | | | |

S/wy 00G=A OWs 1'0=Z N 88E=I

0

[ OTXT
[ 0TXZ
[ 0TXE
e 0TX¥
Lc_0TXS
1c-0T%9
e 0TX/L
[ 0T%8
c_0T%6

0c_OTXT

[——] 1108



[HAN] wiy
80 90 ¥'0 20 O

¢ ¢ 81T 91 v¥1 ¢1 1
| ” | 0

/W 00G=A WS T0=Z W 88E=

| F

17"

G1°0
0
G20
¢ 0
Ge0
0

[——]e¢10s



[4AN] swin)
¢¢ ¢ 81 91 ¢¥1 1T 1T 80 90 0 0 O

0
i3 S e
WWWWWWW e { r0009

I S s

N © { eoooo
s [ 1000
| o {0

! ! ! ! ! ! _® ! ! ! £ T100°0
S/WX 00G=A DWsS T'0=Z N 83¢=IN

[——]€1Ds



[41AN] swin)

¢¢ ¢ 81L91TviIcI 1T 8090vr0c0 O

S/wy 00G=A OWs 1'0=Z N 88E=I

65 OTXGBET
65 OTX6E'T
65 OTXGBET
66 OTXt'T
5 OTXSOP'T

66-01*1IV1

66 OTXSTH'T

[——] 2N



[4AN] swin)
¢¢ ¢ 81 91 ¢¥1 1T 1T 80 90 0 0 O

S/wy 00G=A OWs 1'0=Z N 88E=I

0

S0000

1000

S100°0

c00°0

G2000

[——]#TINs



[4AN] swin)
¢¢ ¢ 881 91 ¢#1 1 1T 80 90 #0 0 O

S/Wy 00G=A OWs 1'0=Z N 83E=IN

[——] GTINs



[41AN] swin)
¢¢ ¢ 81 91 1 1 T 80 90 0 0 O
u m m m m m m m | | 0
RV /- oo
Y AR AN o
B A s
U [ e
SN [z
e o feo
e f sec
e ] D
!l e

! ! ! ! ! ! _® ! ! ! G0
S/WX 00G=A ODWs T'0=Z N 83¢=IN

[-——-]910s



[4AN] swin)

¢ ¢ ST 9T v1iI 1T T 8090 v0 20 O
s/wy 00G=A Odws 1'0=Z N 88E=W

[——]£10s



[4AN] swin)

¢¢ ¢ 81 91T +v1cl I 8090v0C0 O

0

6 0TXS
o OTXT
g OTXG'T
o 0TXZ
0 0TXS'Z

o OTXE

S/Wy 00G=A OWs T'0=Z N 83E=IN

o OTXG'E

[-——-]810s



[4AN] swin)
¢¢ ¢ 81 91T +v1cl I 8090v0C0 O

S/Wy 00G=A OWs T'0=Z N 83E=IN

[~ 6T4s



[4AN] swin)

¢¢ ¢ 81 91 ¢¥1 1T 1T 80 90 0 0 O

S/wy 00G=A OWs 1'0=Z N 88E=I

0
c000°0
0000
90000
30000
1000
¢1000
1000
91000

[-——] ozeNs



¢¢ ¢ 881 91 ¢#1 1 1T 80 90 #0 0 O

[4AN] swin)

S/Wy 00G=A OWs 1'0=Z N 83E=IN

0

o_OTXT
o 0TXZ
o_OTXE
o 0TX¥
o_0TXS
-0T%9

o 0TXL

[———] 12°Ns



[4AN] swin)
¢¢ ¢ 81 91T +v1cl I 8090v0C0 O

0

c_0TXZ
_OTxp
_0TX9
. 0T%8
1000°0
21000°0
#1000°0
9T000°0

L 970000
S/WX 00G=A DWs T°'0=Z N 88e=IN

[-——]zzens



¢¢ ¢ 81 91 ¢v1 1 1

[4AN] swin)
80 90 ¥vO0 20 O

S/Wy 00G=A OWs 1'0=Z N 83E=IN

[———] €zens



¢¢ ¢ 81 91T +v1cl I 8090v0C0 O

[4AN] swin)

S/Wy 00G=A OWs T'0=Z N 83E=IN

[———] vz38Ins



[4AN] swin)

¢¢ ¢ 81 91T +v1cl I 8090v0C0 O

S/Wy 00G=A OWs T'0=Z N 83E=IN

0
o_0TXS
_OTXT
¢ OTXS'T
. 0TXZ
. 0TXGT
_OTXE
. 0TXS'E

c_OTXY

[———] Gz8Ins



[4AN] swin)

¢¢ ¢ 81 91T +v1cl I 8090v0C0 O

S/Wy 00G=A OWs T'0=Z N 83E=IN

0

_0TXZ
. OTxp
_0TX9
018
1000°0
21000°0

10000

[———1923ns



[4AN] swin)
¢¢ ¢ 81 91T +v1cl I 8090v0C0 O

S/Wy 00G=A OWs T'0=Z N 83E=IN

[——] 9z1vs



¢¢ ¢ 81 91 ¢v1 1 1

[4AN] swin)
80 90 ¥vO0 20 O

S/Wy 00G=A OWs 1'0=Z N 83E=IN

[———] L21vs



[4AN] swin)

¢¢ ¢ 81 91T +v1cl I 8090v0C0 O

S/Wy 00G=A OWs T'0=Z N 83E=IN

7000000
9000000
38000000
0100000
¢10000°0
100000
9100000
3100000

0200000

[———] gzIss



[4AN] swin)

22 2 STO9TVIZI T 8090+020 O
— 11— 50000000

R [N
R 5 T S U S S U W——— 1 ST00000°0
R 1 02000000
R . SRS S S NS —— - { 52000000

1 9e00000°0
S/Wy 00G=A OdWws T'0=Z “N88E=W

[——-] 62!SS



[4AN] swin)

¢¢ ¢ 81 91T +v1cl I 8090v0C0 O

S/Wy 00G=A OWs T'0=Z N 83E=IN

0
5_0TXZ
o 0TX¥
5-0T%9
- 0T%8
_OTXT
c0TXT'T
c OTXP'T

¢ 0TX9'T

[———] og!ss



[4AN] swin)

¢¢ ¢ 81L91TviIcl 1T 8090pP0c0O0 O

S/wy 00G=A OWs 1'0=Z N 88E=I

16200000

25200000

€520000°0

¥S20000°0

$G20000°0

96200000

/5200000

[———] 9Ga4s



¢ ¢ 81 91 Pl

[4AN] swin)
¢l 1

80 90 #¥0 <0 O

S/W3 00G=A

ows 1°0=7

“N 885=W

0

10
¢ 0
¢0
0
S0
90
L0
30

[——] TH>



[4AN] swin)

22 2 ST9T¥IZT T 8090%0¢20 0
e

e
] ovee
O O O | .. ovese
S g DT
. { covrss
N e

e — { cr0TxE9TE

S S S S S R ) #1%-X
— ‘A— © —
S/W3 00G=A DWs 1°0=Z7 N 38e=IN

-] 2Hp



[4AN] swin)
¢¢ ¢ 81 91T +v1cl I 8090v0C0 O

p p p p p p p p p p w|oﬁxm.m
S/Wy 00G=A OWs T'0=Z N 83E=IN

[——] gaHp



[4AN] swin)

¢¢ ¢ 81 91 1 <1 1T 80 90 #0 0 O

S/Wy 00G=A OWs 1'0=Z N 83E=IN

0

10
0
¢0
0
S0
90
L0
30
60
T

[———] ¥3H>



[4AN] swin)
¢¢ ¢ 81 91 ¢¥1 1T 1T 80 90 0 0 O

0
B A S A T eoma

,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ] 0txe
wwwwwwwwwwwww wwwwwwwwwwwwwww wwwwwwwwwwwwwww wwwwwwwwwwwwwww WWWWWWWWWWW | o
B A A | o
ENEEEEE | o

R A R A S e

S B B R

UL

A W S U S SN S SN S L. 0T%8
S/wy 00G=A OWs 1'0=Z N 88E=I

-] or1o



¢¢ ¢ 81L91TviIcl 1T 8090pP0c0O0 O

[4AN] swin)

S/W3 00G=A

owis 1°0=7

“N 885=W

0
1 _0TXZ

,_0Txp

,1_0TX9

,_0Tx8

orOTXT

op0TXT'T

o OTXt'T

o1 0TX9'T

-] 2170



[4AN] swin)
¢¢ ¢ 81L91TviIcl 1T 8090pP0c0O0 O

0

L _0TXZ
L 0Txp
L;_0TX9
,;_0TX8
[1_OTXT
[10TXZ'T

L OTXP'T

S S S SN S S S RN 203
— cA— O] —
S/WX 00G=A OSWsS T'0=Z N 88c=IN

[——=] 1392



[4AN] swin)
¢¢ ¢ 81L91TviIcl 1T 8090pP0c0O0 O
0
g1-0L*c

m m m m m m m W W , mﬁIO._HXW
— — ot {eone
A A A 160t

e ] {eore
e o [ | qeorer
e e
R e S

! ! ! ! ! ! _® ! ! ! wH|OﬁXw.H
S/WX 00G=A OSWsS T'0=Z N 83¢=IN

-] ogd



[4AN] swin)
¢¢ ¢ 81L91TviIcl 1T 8090pP0c0O0 O

0
61-0TXG
qp OTXT
qpOTXG'T
qp_0TXZ
0 0TXG'Z
qp_OTXE
0 OTXG'€E
qp_OTX
ap_OTXGY

S S S S S S 2 Y 2%
— cA— O] —
S/WX 00G=A OSWsS T'0=Z N 88c=IN

-] g8p



[4AN] swin)

¢¢ ¢ 81L91TviIcl 1T 8090pP0c0O0 O

0

o1_0TXS

1 OTXT

[ OTXG'T

1 0TXZ

S/wy 00G=A OWs 1'0=Z N 88E=I

1_0TXGZ

-] oT8P



[4AN] swin)

¢¢ ¢ 81L91TviIcl 1T 8090pP0c0O0 O

LLLLLLLLLL

0

o7 0TXS
[ _OTXT
c(_OTXG'T
1 0TXZ
1 0TXGZ

1 _OTXE

S/wy 00G=A OWs 1'0=Z N 88E=I

[ OTXS'E

[——]1190°



[4AN] swin)
¢¢ ¢ 81L91TviIcl 1T 8090pP0c0O0 O

0
qr_OTXS

Ayt

-, 0TXG'T

/5 0TXZ

,,_0TXS'Z

,,_OTXE

5 0TXG'€E

S S S S S S S Y} S04
— cA— O] —
S/WX 00G=A OSWsS T'0=Z N 88c=IN

[——] 1129



[41AN] swin)
¢¢ ¢ 81 91 1 1 T 80 90 0 0 O
: m | | | | | | | | 0

A 1 500

IR 110

[ERA RS

1 GTO

T
1
!

ATISINARNNEE

1 20

1 G20

- € 1ae0
S/WX 00G=A

. v0
Ws 1°0=Z N 88€=WN

[——] 2122



¢¢ ¢ 81 91T +v1cl I 8090v0C0 O

[4AN] swin)

S/W3 00G=A

ows 1°0=7

“N 885=W

[——=] €122



[41AN] swin)

27 2 8T9T¥TIZT T 80904020 0
e e I L

e e e ———— {66 OT6ET

e R | e OTG6ET

66-01*V'1
e e o 1 66-0TX0¥T

R e ] e 0TIV

s oTXeTHT
S/wy 00G=A OWs 1'0=Z N 88E=I

[——] 2N



[4AN] swin)

22 2 ST 9T #T 2T T 8090 #0220 O
T T T T T 0

L e
ENNENNEEENE | oo
L e
L e

i e Mt o { roo0c

10000

L 510000
S/WX 00G=A DWs T°'0=Z N 88e=IN

[——]#TIND



[4AN] swin)
¢¢ ¢ 81 91T +v1cl I 8090v0C0 O

S/Wy 00G=A OWs T'0=Z N 83E=IN

[——] GTIND®



[4AN] swin)

¢¢ ¢ 81 91 1 <1 1T 80 90 #0 0 O

S/Wy 00G=A OWs 1'0=Z N 83E=IN

0

10
0
¢0
0
S0
90
L0
30
60

[——=]910°



[4AN] swin)
¢¢ ¢ 81 91T +v1cl I 8090v0C0 O

S/Wy 00G=A OWs T'0=Z N 83E=IN

[——] 2107



[4AN] swin)
¢¢ ¢ 81 91T +v1cl I 8090v0C0 O

S/W3 00G=A

ows

10=Z

“N 885=W

0

c_0TX2Z
_OTxp
_0TX9
. 0T%8
1000°0

10000

[——=]1810°



¢¢ ¢ 81 91 ¢¥1 1T 1T 80 90 0 0 O

[4AN] swin)

| |
I 4
——
4
T T e e R REEE R e e il AU -
4 4
I I I I I I I I I I

S/wy 00G=A OWs 1'0=Z N 88E=I

0

L1_OTXT
,_0TXZ
L1 OTXE
L 0TX
1_0TXG
,1_0TX9
L _0TXL
0T
L 0TX6

[1-0TXT

[~ 614



[41AN] swin)

¢¢ ¢ 81 91 1 1 1

80 90 ¥vO0 ¢c0 O

s/wy 00G=A OWs 1'0=Z N 88E=I

0

c00

00

900

300

10

¢10

r10

[-——] ozeN>



[4AN] swin)
¢¢ ¢ 81 91T +v1cl I 8090v0C0 O

T

S/Wy 00G=A OWs T'0=Z N 83E=IN

[———] TZ°ND



500 km/s

V=

0.1 smc

/=

M=388 M,

I R 777777777777 777777 | |||||||||||IIllllllllll::::::J.LLI:lHH“H'"m

I

O 02040608 1 12141618 2 22

T A T T T A M T

0.0002
0.00018
0.00016
0.00014
0.00012

[———]2zeN>

Time [Myr]



[4AN] swin)
¢¢ ¢ 81 91 ¢v1 1 1

80 90 #¥0 0 O

S/Wy 00G=A OWs 1'0=Z N 83E=IN

[——] €zeNo



[41AN] swin)
¢¢ ¢ 81 91 1 1 T 80 90 0 0 O

s/wy 00G=A OWs 1'0=Z N 88E=I

0

100

c00

c00

00

S00

900

[———] yz3W>



¢¢ ¢ 81 91T +v1cl I 8090v0C0 O

[4AN] swin)

S/Wy 00G=A OWs T'0=Z N 83E=IN

0

c_0TX2Z
_OTxp
_0TX9
. 0T%8
1000°0

10000

[———] gz8Wo



[4AN] swin)

¢¢ ¢ 81 91T +v1cl I 8090v0C0 O

S/Wy 00G=A OWs T'0=Z N 83E=IN

0

c_0TXZ
_OTxp
_0TX9
. 0T%8
1000°0
21000°0
#1000°0
9T000°0
81000°0

[———] 923>



[4AN] swin)
¢¢ ¢ 81 91T +v1cl I 8090v0C0 O

S/Wy 00G=A OWs T'0=Z N 83E=IN

[——] 9z1v>



[4AN] swin)

¢¢ ¢ 881 91 ¢#1 1 1T 80 90 #0 0 O

S 1

S/Wy 00G=A OWs 1'0=Z N 83E=IN

0

o_OTXT
o_0TXZ
o_OTXE
o 0TX¥
o_0TXS
5-0TX9
o 0TX/
5_0TX8
- 0TX6
_OTXT

[———] L21v2



[4AN] swin)

¢¢ ¢ 81 91T +v1cl I 8090v0C0 O

S/Wy 00G=A OWs T'0=Z N 83E=IN

0
o_0TXS
_OTXT
c_OTXG'T
c_0TXZ
c_0TXGC

. _OTXE

[———] gz!Is°



[4AN] swin)
¢¢ ¢ 81L91TviIcl 1T 8090pP0c0O0 O

O
T

LILLLLLL

S/wy 00G=A OWs 1'0=Z N 88E=I

S000000°0

01000000

S100000°0

02000000

$200000°0

0000000

[——] 62152



[4AN] swin)

¢¢ ¢ 81 91T +v1cl I 8090v0C0 O

S/Wy 00G=A OWs T'0=Z N 83E=IN

0

- 0TXZ
o 0TXY
5_0TX9
- 0TX8
_OTXT

[——] 0€!1s°



[4AN] swin)

¢¢ ¢ 81L91TviIcl 1T 8090pP0c0O0 O

S/wy 00G=A OWs 1'0=Z N 88E=I

05200000

16200000

5200000

€520000°0

¥Gc0000°0

$G20000°0

96200000

/5200000

[——] 9Ga4



[4AN] swin)

¢¢ ¢ 81 91 1 <1 1T 80 90 #0 0 O

S/Wy 00G=A OWs 1'0=Z N 83E=IN

0

0

90

30

C'1

vl

}JIDA/JINSA



[>4] 7
8y G8Y 6V S6V

dHOBIM/Z]

1 80
G G0'S

“IN 88€

'S

Q1S
S6'9

[
G0'L
|4
G1/L
L
GC'/L

7/ 80]

O,



[4AN] o)
I'c ¢ 61T 81T LT 91T &1 ¥1T €1

IHO8IMZI  “IN 88€



[4AN] o)

¢ ¢ 81T 9TVv1¢¢T T 8090+0<20 O
0
0
70

IA

@)
90
380

I

IHO8TIMZI  “IN 88€



[4AN] o)
¢ ¢ 81 9TVv1¢¢T T 8090++0<20 O

wow / oom _onE _uw‘_w:_u_ ul
| mmc__ jo \_wnE:c _mao._.

““““““ S E1wowmouﬂmmmomfmvmmmdmom.

v

IHO8TIMZI  “IN 88€



